. VCE & PDF https://www.pass4itsure.com/700-751.html
g 2024 Latest passditsure 700-751 PDF and VCE dumps Download

PassditSure.com

700-7519%As

Cisco SMB Product and Positioning Technical Overview

Pass Cisco 700-751 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/700-751.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

700-751 PDF Dumps | 700-751 Study Guide | 700-751 Exam Questions 1/3


https://www.pass4itsure.com/700-751.html
https://www.pass4itsure.com/700-751.html
https://www.pass4itsure.com/700-751.html

VCE & PDF https://www.pass4itsure.com/700-751.html
a 2024 Latest passditsure 700-751 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

What is the interface used to access the Cisco Meraki Dashboard?
A. Cisco I0S command line interface (CLI)

B. Secure Shell (SSH)

C. Web browser

D. Terminal (mac) or Command Prompt (Windows)

Correct Answer: C

QUESTION 2

Which statement represents increasing sophistication in security threat landscape?
A. 25% of users spent their work time off network

B. 85% of intrusions are not discovered for weeks

C. 28% of top security constrains is product compatibility

D. 50B devices connected by 2020 (66% mobile)

Correct Answer: D

QUESTION 3
How is an Organization defined within the context of the Meraki Dashboard?

A. It serves as the boundary of the account\\'s administrative domain, including license, inventory, and user
management.

B. It is defined by the user\\'s network construct and categorized as either small-medium enterprise (SME), campus, or a
distributed enterprise.

C. It contains Cisco Meraki devices, their configurations, statistics, and any client-device information.
D. It consists of multiple service provider resources, including support ticket management and APl sandboxes.

Correct Answer: C

QUESTION 4
Which is the range of users is supported by the Business Edition 4000 (BE4000)?

A.100-120
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B. 10-120
C. 1000-1200
D. 10-200

Correct Answer: D

QUESTION 5

Which are two major security challenges that occur due to proliferation of users and applications at the branch?
(Choose two.)

A. Increased threat surface area

B. Increased complexity for mitigation

C. Increased complexity for mobility

D. Increased complexity in Omni-channel experience
E. Increase in threat naivety

Correct Answer: AC
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